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(QUADRATIC EQUATIONS)
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B Sl - Z(k +5 x+3=0, kz0)ablod Zus ik 9
B LB+ - Dxt@—B)=0zblaS S el 10
:.;aLruiﬂ;Ju-/lxsiJle_,?b/Jﬁ 2.2
i 60K 2,21
e 63 S S P
x=(1)" g

=1

te—

- ©-1=0 | xR - (1P =0
=  (-DE@+x+1)=0 [J&1Lad b =(a—b)(a>+ab+ b

x—1=0 | 2+x+1=0 LAV
—1+Jayr -4 (1)
= x=1 L X = 21
C11-4 1443 13
-2 o2 2
..L,{?Jljjgufcr_fdﬁcj_uﬂ

;’:‘\j—_l ,? _1;2"5 yil) %ﬁd




SIS A i S L b Swo 222 ‘
= = _\‘{_—31}{_1 +2‘\!:;.7ddl,rj}uﬁ%ﬂ)£.db/’

2
=t (Article) ST LS U1 € wad 3 U2 () ortb L1 A )

A
.;-:L:.n-‘f?d/\.'e’ﬂl.ii_—’é-éﬁ 223
G—¥ 1 i (SN E = G SE ot (@)

bl

fwé’_/‘/;ﬁﬁuuﬁ_l _Z‘J__?’.ul_] +2\;__3J!JJ§-JE='JLJE’!: -

(1+q’_3] e 2\!_ r (—1 —Z\I—_?,T:—Hz\i—?
(—1+V’—_3] _1+E3) -3 (—1—\1—_3]2:1+{—3)+2\K—_3
2 4 2 4
_2- 532-3 2+ i \-3
_2(1 ;}!_3! _2(1 ij—:;!

_=l —23[—3 _=l +23{—3

= %’Eﬁﬁif;ﬁwa@/u Ji e & B L p 60 A
= iﬁ 7 i}’ Mett? = "JE
e bt L N A i LS =t (D)
e =y=3 = +2'\‘L_3:1¥:ﬂu,lmf'ﬁdm: -

2

A i L6 = (1) [_' ?lﬂ (_I _2@

1R -f-3 1-¢3) 1
% n 1=,

—~ KT~ Gisss



S Q@@=1 o =1 &
=.0=1.0=0

--_L-t'!fd_/lcy(é_-f—"”JFJJL;-’L??M’:‘———Q)?{J(IIQ?Z-L-:? (c)

=1 = m.0=] fugilﬂ‘?: —
1 1
w="3 L mz—a e

_?dJiKL_/JJJUJ?L/'%fvg'ﬁKJﬂ Vi
b s P G LSy S =t (d)

1+0+02=0 ﬁ
dbgfﬂljigédﬁ_l _2‘\!__3131_1 +2\l’__3: i [ T Z
m2=i_1_2 —= 7 m=il +2 = yy

.nfgjyr‘l?_]+m+mz

- -1+\}_ -1—0-_
= 2
- —1+\f_—1 ﬁ_g_ﬂ
=5 =
l+o+w®=0 e

.-V jsré-t:*‘_ij_;-wm—.&vfﬁ
(i) 1 + @ =—@ (i) 1l+o=—* (i) o+’=-
ytfd-’fuﬂtr*wwLJWIL@VﬁJJIJMLJﬁ 2.2.4
-gﬂédﬁyﬁ'mzﬂlm, 1,&;33156:6@(?
o =(0)2. 0=(1)2. o= =2
0P =(w).w=(1).w =
mfi_'! - (m3)21 - {])EI - I




1 1 1 o}
(’rm:tﬂn‘ﬁ:{m’*}s.mI(l)ﬁ.m:(ﬂn:m2
WU I g
"0 T (@) T (1T
G 21 By + (-1 -3
(L +y=3) 4 -1 -3
—1++/-3\] —1—4/-3)
:H 2 ]*H 2 J}
= (2m)% + (2m?)?
=256 ®* + 256 '"
=256 [®* + ']
=256 [(0))? . @ + (%)’ . o] (" @&=1)
=256 [®? + W] (0+ o =-1)
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(SET) et 5.1
-Qf@gﬁﬁaeﬁasa B, A[:.{;sltg,t'ﬂ-r(.:.{r,ﬂi-ﬂilgb

:(Some Important Sets) ..*_..g-'(’fl..g_'.«g 5.1.1(i)
-Lﬁ'z-)’ﬂlgc-U?desB:fu;f:ﬁ:lﬁldibu{,z?r’l&ﬂ:;ﬁw:ﬁ:{
ol a3 8 = N=1{1,2,3,4, -}
e = W=1(0,1,2,3,4,-)
ol =Z={0,£], 12,43, )
Ll =P pli= E= (0, 42,14, )
LB s Qb= 0 = {£1,43, 45, ---)

bl = P=(2,3,5,7,11,13,17, -}

.:.-rKJIﬁIJ‘!’i:r‘Uu=Q={xlx=E ,..gm,ne Zslnz0}

-
L F e F U= 0 = (xlx# " FEmne Zulin=0)
.;gK:IMﬁ’fLE R=Qu(

IS (U, A\, JW1F LU 5.1.1(ii)

Recognize operations on sets (U, N, \, ... ):
(Union of sets) £ y§Us—"  (a)
SUI-UnUEUIBLUEB LUEA £¢7_er LRI L 6B 1A U s
=y B A mZAUB
AUB={xlxe ALxe Bl xe Asl B} e
A={1,23,4) s  B={4,56.7) Siegub ZJe
Ab) Bi= 1 S 80R T J
(Intersection of sets) ZLSKUs—"  (b)
e bt S L 60 S5 p3 L B A 2 bror\d LICEEBAA Ut
-2z 4B C6AnZE A B




AnB={xlxe Al xe B}

xeANB=xe AnrixeB .J/di:./:l.i;
A={abecd) 4  B=(cdef) Jiegap ZJE
AnB={c.d} J

(Difference of sets) J/§Us~— (c)
L LU ABLA-BO L T Ussrss B s A )
A—-B={xlxe A »slx¢ B}

B-A={xlxe Bulxg A) LAS!
A={1,2,3,4,5) Siegp ZJe
B=1{2,4,5,6,8) 1
A-B={1,2,3,4,5)-1{2,4,5,6,8} = {1, 3} J
B-A={2,4,56,8-{1,2,3,4,5}={6, 8}. 1

(Complement of a set) .b—gj:;f Feiw  (d)
L JEipUinl U foids L ATnixrF 61 A wxir 69 LU
_‘L[Tlgl..rc,’:w;-ff _L:A‘-)(u"l_a"_,mﬁ.‘;cfci Al gt

A’=U-A={xdxec Usl xgA) Lt
U={1,2,3,..10} » A={2,4,6,8} g ZJe
A’=U-A=(1,2,3,.,10} - {2,4,6,8) J

={1,3,5,7.9, 10}
(Perform operations on sets) L.:.-f.:rt.,fu-—/b’g}-’!f_‘;u;:—/ 5.1.1 (iii)
LT U={1,2,3,.,10),A={2,3,5,7),B={3,5.3).| O]
()AUB (iDANB (iii) A - B (iv) A"l B’
(i) AvyB =123 5T 13:5,8)=12.5.57.8)
i} AvB={2 35, T 13:5:8=1{3.:5)
(i) AWB={2,3,57}1{3,58}={2,7}
(ivy A=U-A4={(12,3,..,10}-{2,3,5,7}={1,4,6,8,9, 10}
B’=U-B={1,2,3,..,10}-1{3,5,8}={1,2,4,6,7,9, 10}
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(i)

(iv)

(1)

(i)

(i)

<

510

Sl X=(1,4,7,9) 41 Y=12,4,59)]]

-

Xwy (i) XY (1i1) YuX (iv) Y X
X = erbnmi il o e 17250 w5 2 A
Y= rbiu ik il

LI Spinrd

Xy (i) Yux (i) XNY (iv) YnX

L IT=0,Y=2,X=¢/
XUy (i1) XuT (iii)y YuT
XnY (v) XN T (vi) YNT

U= {xIxe N A3<x<25)]1

L UFETY = (I xe W A4SXS1T) 8 X= [XIXP AB<x<25)

(i) XAy (ivy, XuY

LS LTy =(4,8,12, ..., 24}, X = {2, 4,6, -+, 20}

(XYY (i) XnY
X=y G) Y-X
A-B (i) B-A

e B=waa=N S

4

-5

-6

(Properties of Union and Intersection) _."_..'Lz.v-‘!‘;d/d,i_.ﬂ)ﬂc,{{' 5.1.2 (iv)

(Commutative property of union) ,J:L...f_-f:,-’{_'.)(fc,lfg (a)
AUB=BUAS St L Bl Auses
(Proof) —=— ¥

xre AUB

xe BUA

!

ve BUA

U

yeB LyeA

xeA L xeB
xeB | xeA

AUB c BUA

SIS
G Lcw P St 1l

(i)
SUL PP
e Ly P pSui)



(Commutative property of intersection) J:l__x.;..;-*u.)d/ [ (b)

ud

U

Ul

AUBUC=AUBUO) S abtd LcnBavsrf < 3F

Uy U

yeA Lye B

yEAUR

BUACAUB (ii)
;.:.xd/(ii)ﬁf(i):-bb'

AUB=BUA G s FSuseils)

AnB=BnAS L et LAY
(Proof) s
XeANB IJ,/J/

xeA » xeB {JWL-.{J;J&E}.&:U;!)
xeB » xe A

xe BmA

ANBCBNA i LU

ve BNA Judl i)

yeB slye A (&Wﬁ#ﬁ&éﬁﬁu;‘;’)

veA slye B

veANBRB

BRACANB (i) U
e Gl

ANB=BnA (e Ly S use ol

(Associative property of union) (}w‘_«ffl;.-"J UC y (c)

{Proof)_".u?
xe (AUBUC SAPI
xe (AUB) | xeC
xeA L xeB L xeC

xeA L xeBuC
xe AU(Bu ()



AR R

(Di

udu gl

(AUBYUCCAU(BUCO (1)
AUBUC)CAUB) UC (i) LA

8 Gi) sl (i) ol

(AuByUC=AUu(BuC(C)
(Associative property of intersection) r}lﬁ“__n...;:'l.‘..ﬂf Cf’ =¥ (d)

ANBNC=ANBNC) Sy etd Lcn Baysrf «f

(Proof)—=_ s

xeANB)NC SLIFP
xe(AnB) »#l xeC
(xe A o xeB) » xeC
xeA » (xeB » xe )
xeA »#l xe BnC
reANBN O
ANB)NC < AnBNCO) i LUl
ANnBNnO) ¢ AnBnNC (ii) Z’,}’JI

ol

ANBNC=ANnBNC) _
stributive property of U over N) dfﬂ_-*_—-.:‘t_.-’,;&t_'ﬁd/gﬁg (e)

AUBAO=AUBNAUC) JU ebd L Bausrf (S
(Proof)—=—
xe AU(BNCO) SLIFP

xeA L xe BnC

xeA L (xeB # xe O

(xeAlL xeB) » (xeA L xe O

xeAUB ul xeAuC

re(AUB (AU ()
AUBNOcCcAUBNALQ) (i)

ye AUBNAUC)  SUSPILA G




ve(AUWUB) »# ye (Au(Q)
(veA L veB) »l (veA L yve O

yeA L (yeB s ye O

yeA L ye BNnC

ye Au(BNn O

AUBIN(AVUC)cAU(BN Q) (i)

AUBNC)=(AUB) N{AUC) s § (i) e lols

R R

(Distributive property of n over U) &= o e (9
ANBUO=ANBUANC) JU b Lot Bausf <05

(Proof)e=—
xeAN(BuUO) fu:/gf/
= xed ol xeBu(C
= xeA # (xeB L xe ()
= (xe A # xeB) L (xeA »# xe (O
= (xe AnB) L xeAnO)
= xe(ANB)U(ANC(C)
= ANBUO) c ANnBUANO) (i)
ANB)UMANC) c An(BUCQC) (i) LAY
(i) () sl
ANBUO=ANBUANC)
(De-Morgan’s laws) £13L/ L$5  (g)
f;{fc—:?éif}ﬂlﬂuﬁfu
() (AUBY=A"NB b)) ANB'=A'UB
(Proof)—=—
xe (AUBY fpf)/u"/’ (a)
=  xeAUB G Ly flecdd Loy
= xg A o xe B
= xeA” . xe B
= xe A'nB (J&»Lqﬁgfc”w‘iqﬂ



(AuBY c A'nB (i)

ANB c (AUBY (ii)
AUB=A'NF el S Gi) sl () sl
xe (AnBY SULFP o
= xe AnB
= xgA L xeB
= xeA” | xe B’
=3 xe A'UB’
— (AnBYcA'UB’ (1)
ye A'UB” ,J/V:/ru"/’
=5 veA' L ye B’
= yeA L veB
=5 yeAnB
= ve (AnBY
= A'UB'c(AnBY (i1)
(ANBY=A"UB’ STl e (i) ol () hsls
— 5.2 —
X={1,3,5,7 19} «¥Y={0,2,4,6,8, .20 A
AL in 7212,3,5,7,11,13,17, 19, 23) s
i) Xu(Yu2 (i) XuY)uZ
(i) XN (Yn2) (iv) XNnY)nZ
)  Xu(Yn2 ~i) (XU Y)n(Xu2)
i) XN (Yu2) viii) XA Y)u(Xn2)
A=1{1,2,3,4,56) B={2,4,6,8)s C={1,4,8)  JI
_g,ijr’.:cﬁ';ut}._nﬂ;ﬁ
(i) ANB=BNA i) AuB=BUA

(i) ANBUO=(ANB)U(AN C)
(iv), AuBNC=(AuBN(ALC)
InU=1{1,2,3,4,5,6,7,8.9,10)cA={1,3,5,7, 9} #B=(2,3,5, 7)1

LS ABSLI S
ANBY=A"UB s (AUBY=A"NE (-

LA




JY=1{1,3,5 -, 17} 01X ={1,3,7,9,15, 18, 20} U= {1, 2, 3, ---, ZO}f;
J’L,{/'::‘-:L"'
(i) X-Y=XnY" G Y-X=¥nX"
:b[q?ﬂfa?ﬁd}%&:yd/u}y&mi—) 5.1.2 (v)
(Verify the fundamental properties for given sets)
(IS )AUB=BU ATUsi—p§F ne (SEUBSA  (a)
A={1,3,5,7) s B={2,3,57) Ty

7
AUuB={1,3,57 U {23,571={1,2,3,5,7) J
BUA={2,3,57u{l1,357}={(1,23,5,7} 2

AUB=BUA Snetm

(Commutative property of intersection) :J:i..../..;w_;-’t;)gfcfl._ﬁ (b)
A={1,3,5.7} » B=[23.57) 4L
AR A=103.5 1A 1A 8. =18.5T y
BNA=1{2,3,57n{1,3,57)={3,57) !

AnB=BrnA .’/ln..::.r;L"Ué

(/KN (AUB) U C=AU(BU O Juss§ L UCHBAS (o)
A={1,2,4,8}B=1{2,4,6} » C={3,4,5,6) SEAP A
LHS =(AuBuUC J

=({1,2,4,8} U {2,4,6}) U {3,4,5,6}
=(1,2,4,6,8) U {3,4,5,6)
={1,2,3,4,5,6, 8}

RHS =AU (BUC) !
=1{1,2,4,8) U ({2, 4,6} U {3,4,5,6))

(1,2,4,8} U {2, 3,4,5,6)

[1.2.9: 45,68}

L.HS=RHS.

_Igmrjw‘c/_“l.}ufgfu:?ﬁ
(956 ) (AN B) A C=AN(Bn CF U LUCHB, AL (d)
A=1{1,2,4,8)B=1{2,4,6} » C={3,4,5,6} SLASS

(I



LHS=ANnBNC
=({1,2,4,8}n{2,4,6D N {3,.4,5, 6}
={2,4}m{3,4,5, 6} =(4}
RHS=An(Bn () Vil
={1,2,4,8} n({2,4,6) n {3,4,5,6)})

={1,2,4,8} n{4,6} ={4}
LHS=RHS

- ol AV
. (Distributive laws) oﬁ:’;"u‘:}'
(et B L Sy (o)
AUB A C)=(AUBNA U Ol lF L5 1£1CHB, AL
C=1{3,4,5,6}4B=1{2,4,6},A={1,2,4,8} JU/
L.H.S = AU(BNO) J

={1,2,4,8} U({2,4,6} N (3,4,5,6})
={1,2,4,8} U {4,6}={1,2,4,6,8}

RHS=AUB)n{Au() w1

((1,2,4,8} U {2,4,6D N ({1,2,4,8} U {3,4,5,6))

{1,2,4,6,8) n{1,2,3,4,5,6,8)
{1,2.4,6,8}

LHS=RHS

(o B LB B ()
(M is distributive over U of sets)
An(BuC)=(AnB)u(An Q) ﬁ

A ={1,2,3,4,5,--,20) JUAL?

B = {5, 10, 15, 20, 25, 30}

C = {3,9,15,21, 27, 33}
LHS =AnBu()
= {1,2,3,4,5,---,20} " ({5, 10, 15, 20, 25, 30} U {3, 9, 15, 21, 27, 33})
= {12,345, -, 20} N {3, 5,9, 10, 15,20, 21, 25, 27, 30, 33 }
= {3,5.9, 10, 15, 20}




RHS =AnB)uAn(O)
=11, 2,3, 4, =, 20} ;v {5..10, 15, 20, 25, 30})
w1, 2,.3,4, 8, 4 20 3.9, 15,21,27,33))
=45, ML 15,20} v [3.9 15 =350 10 15,20}
L.HS =R.H.S.

(De Morgan’s laws) ¢£15 o/ (53 (g)
(ANBYy=A'UBHAUBY=A'NB
B WA
A=12.4,6,8.10} = A'= {1,3,5.7.9)
B=+41,2.3:4.5 6) = B =418 9 11}
ANB = {2,4,6,8,10} ~{1,2,3,4,5,6) v
= (2.4,6)
LHS = (AnBY = U~ (AN B)
= VA e, T 4,56
= {1,3,5.7.8,9, 10}
RHS = A'UB !

= {]?3)57739}U{T’839510}
{1.3:5.7.8. 9,10}

Mg

L.HS = R.H.S
(AUBY =A'NB
U={1,2,3,4,"', ]U} Ikrj/j

A={2,4,6,810} = A'= {1,3,5,7,9)
B=1{1,2,3,4,56} = B ={7,8.9, 10}

(9, 4,6, 8, 10) i1, 2,3, 4,5,6] —
= (1,2,3,4,5,6,8, 10)

LHS =(AUB) = U—-(AUB)
=(1,2,3,4, -, 10} - {1,2,3,4,5,6,8, 10}

{7,9)

A'NnB'={1,3,5"179}1n{7,8,9, 10} nl

={7,9}
LHS = RHS

AUB

R.H.S



(Venn Diagram)rlfyjcf": 5.1.3
YU s §5 o L LU e J 09 (1834-1923)ef sl ubdfk:dfﬂu.
W, LU & N BAURE L

S L L S S SE Tt g Ly S s 513 )

S Il U~ (a)

L Lurr Sz &Ly tiz AcB
(& U U
‘| BB
1 2
U U U
A B a-D
4}1/ 5 J.i/ 6 J.i/
(_‘L%fﬂwgbawt?lfuﬁ_f:ﬁ = 1J6n
=7 (Complement of set) .:-Lglng.;.f (b)
=== e e e b P U-A=A

S L Ja I hrydesd Sy 5.1.3 (vii)
J:L«-’gft’-—’é&é’bﬁﬂf;ﬁgﬁu;g (a)
u

Si=— =) "M““"hﬂh‘ |||||'

e e ef i fBUA

eV e eI Fiia U B




AUB=BUAUs A28 AU 152U

u
a0

_+ﬁwﬂw¢5¢wé’|fa N B _%Kuﬁwahigbﬁd}ffl? NA
ANB=BN AL 02 E SAUS i Uss

e,

v 2]
||-|||||||Il'
(v 5]

o

(De Morgan’s laws) L;,L"I;"Ldil.odj (b))
(i) (AuBY=A'"NnB" (i1) (AnBY=A"UB”
(i) (AUuBY=A'NnB"

m =T

| [I i ;‘1_15"' "‘—_"Iz =\‘
Al ) =

- —\ 4 ( f—B—

-
ra
s

: =

b Bt B2 2 U ,-u;-;_»..,u::d’ A1 S

7y

-p?

“ B ‘ {
/W?%

b e e &/ A UBY 4 el A A B3
Lﬂ,{l,{ﬁﬁ%;ﬂdﬁl
(AUBY=A’nB’ &~




(ANBY=A"UB’
Hu U

(ii)

=)

y Sy
e
ME:
y
-,

(A NBY A" B

\ Py
e

GF P U—AnB=(AnBY 6L  sbblfPIa’0 B 5 J&
_.‘L“Lf.l{(,r;w&ﬁiuﬁ/,uiﬁ;bﬁ _.‘Lyil/lﬁlé:'éﬁiuﬁ'/
A E L5 g
(ANBY=A’UB’ ®
(Associative law) rnr;_;;;u.: (c)

L A L1 :'i.---hl\"l L I -T‘- 1 'l: :b “‘
Ll }-' ’J .--‘I.E: :::ﬁ;:-'
U ——— U
V2 FfavBuo <Lt 1P auBuce
A2 E L1 e

AUB)UC =AUBUC) #

4~ I3
Bl B A IANBAC) B B3 AnB A C
..;"_'l:-"lfﬁl'b';. _ai;;l._-'ilr(/qlga.




i L a3 e
ANB)NC=ANBANC) »

:(Distributive law) u”” Ui (d)

U U
’,Q\E\
==

L.

e P IA U B2 L =S FI LA U BAC) 1 S

_.::'_.l..f:lr(/;ll;;. _ﬁaﬁwﬁw;ﬁ
U U

Jidug":'/(AuB)ﬁ(AuC):-tldﬁ/ M;derfﬁfﬂ/AUC:Slﬁ/

-‘f—.LC"..L’C’I LF::.J:;&;(:JJ._@/ —c-,L,f.L./ﬁiE;
L LA
AUBNC)=(AUBINAUC) &
v U

iy

s

SFEIANBUC) 6L SSIBUCs S
..cf_ﬂbr,gu;c..bﬁhj»laﬁdu‘& _‘Lﬂtfﬁwa_ﬁi;hﬁduf



ANBUO=(ANnBIU(AN(C)

T =

U=1{1,2,3,4,---,10}sA = {1,3,5,7,9} 21B={1,4,7, 10}

-quﬁédféurrvts_?m?x

i) A-B=ANPE (i) B-A=BnNA
(i) (AUBY =A'NB (ivy (ANBY=A"UB
(V) (A-BY = A’UB (vi) (B-A)Y = BUA

U=(1,2,3,4,--,10) <A={1,3,5,7,9}B={l1,4,7, 10)
-uj)/:—;t"é’:(.:.mrg_f"}g;p;ﬁ C={1,5,8. 10}
i @AUBUC=AUBUO
(i) (ANBNC=ANBNO
(i) AUBNC) = AuBInNnAU()
(iv) AnBUC) = ANBUMANC)

e Vb e &St P S A B UM N C) T S
-J.{L{Eé?)jlﬁdﬁf

5

yy

SIS S NS S B=PsiA= g SU=N)
U={1,2,3,4,, 10} cA={1,3,5,7, 9} B=(2,3,4,5,8} /1

_u:/-.:r:t"d.r'lfiljczj)(&[,llﬁ’d;gJﬁ’;ﬁ

i) A-B=ANnPE (i) B-A=BnNA
(i) (AUB =A'NB (iv) (ANBY=A"UB
(A-BY = A’UB (vi) (B—A)Y = BUA




A E Kstetre = 5.1.4(vill) |
(Ordered pairs and Cartesian product)

(Ordered pairs)c—Jj2e>~" 5.1.4(a)

() et e bl 2SS ) Iy xostine
.f;_\_nff (3,2) J;_,.f}’ﬁdt‘»_{_wrﬂ/» y )JlL‘)CUﬁ: X gﬂf-;:_ﬁ{#:ﬂﬁic.ﬁm,.f}'d/:mi
=y .J/..f_& (x, V) # (v, x) J+ﬁwdu¢{z, 3)
el

y=tnlx = s.fﬁ(x, ¥) = (s5,0)

(Cartesian product) — ~J=">(5* £ 5.1.4 (b)
UL n o Weint R EAX B < AL KLBaIAUSE 6 2
_sy€ Bulxe AR
PP BXAMAXBIB = (2,5)mA = (1,2, 3. CHED
AXB={(1,2),(1,5),2,2),2,5).3,2), 3,5}
2L Bar sl 3L ALY
-« ULAXBe S22 23%2=6 (A
BxA = {(2,1),(2,2),(2,3).5, 1), (5.2), (5, 3))
AxXB # BxA. -1l

- .
— - —

= Y —
LS BXASAXBIB = (. d A= (a,b)SI -
_q/p'-*’a XBAXABXAAXBIB=(-1,3),A={0,2,41.71 2
Ayl e#bma 3
0 (@-4,6-2) =1 (i) (2a+5,3) = (1,b—4)
i) (3-2a,b-1) = (a—7, 2b+5)
X x Y={(a, a), (b, a), (c,a), (d a)}ﬁqfr#‘}oux 4
SN E N L U 3PS5 2 TY = (d, e} X = (a, b} ST S
G  XxY (i) ¥YxX Gii) XxX




(Binary Relation) guéu.ﬁ 5.2
b 0E EB e ARLE o TRC A X B slunesr b Fne(5BaA N
_‘;t‘ﬁyaﬂjk‘uZ.c)f.f/_./::ﬂl%ig}ﬁ__}'ﬁﬁuf R _J./,f_,.:_
-g_,,'?L//;lSz_. Dom R :C!JJ!-‘L.t‘ﬂJLidcll-,gb/é.}i:.._—’}‘ﬁd.‘.{c}:ﬁ‘ﬁ@;
-LEZ_/(/:LF{;- Range R Ll..‘a.l:'ﬂ'JUBuf/;f/:J(Lfﬁ#?ﬁﬁi{é)[-@;
AB=1{2,4,6,8)A=(23, 4, 5. QD
_L,_{;r'.?l"‘RangcRA!DomR;R:A —=B={xRyly=2xanxe A, ye B}
R={(2,4),(3,6),4,8)
DomR=1{2,3,4}c A » RangeR={4,6,8}CB
B=(1.2.3,5} A= (1.2.3,4) U GNP
Range R#DomR¥R:A—B = {xRylx+y=6axe A, ye B} b
gl
R={(1,5),(3,3),4,2)}
DomR={1.3.4} cA . RangeR={2,3,5}cB
(Function or mapping)__ﬁ?:‘g‘,}'j ¥ 53
—e bl PG A BT Unerde £uBaAS g/ )
-abtn Mgk tns PELG A Lfn iAZx £(ii) Domf=A )1
(Alternate Definition) e~ b=
_.";.t'ﬂ:’/.'jli'jf: A—>B L;J;;E.:f;'dlé/:‘:’»BulAJ/q:/ub}
Dom f=A (i)/1
y=f()e B2 pLiad ey oo LB._iLxc)f;ﬂiAﬁ (ii)
-—‘#r@)}"qW’jﬁqW’chfbﬁ

(Domain, Co-domain and Range Foundation):

B e G B st f FEATIn PO LI f:A>B ]
wALE rd{é‘;b’fn!iab'ﬁy,;uﬁl%r’ﬁﬁuﬁﬁg‘}‘ Lf el JinSE T
_{_t'nd:‘&.‘;ut{)w_/ur'ﬁfﬁuﬁf




ok B={1'2’3’4'5}”IA:{0’]'2s3}fi.£/u;/j
’ Saef:A-BSG
— f={yly=x+1aVxeA,ye B)

Dom f={0,1,23}=4A
Range f={1,2,3,4} cB.

_Ju#@f;bgufﬁxﬁﬂudﬂj.;uﬂ

i € Af:.f‘a.w?c)i@h;sl%m%anB;{ca € A..f{‘c.di‘iuf’abgg
LB B

h

g
) > 1 a 52
b 2 b >
—> 3 1
C -._4 c 56
vl d
A = B <r A& Bl

- r

(Demonstrate the following) t/JL.-?J’.’KJj._‘-—?JA.'—" 5.3 (ii)
(Into function) S~ L3/ (a)
Fep Sicewl FE s a5 B
Fros S WF S LA e oL
Range fc B
LSS A B AP L
NE:
F={(0,1),(1,1),(2,3), 3. 2)}
B={1,2,3,4)sA=1{0,1,2,3) Uk
e FH S
(One-One function) J~"U3us_s  (b)
(Image)f@l:[.c}b’ﬂrﬁé A ff..‘a.L“Ler:‘E - f:A—>B uﬁ'c!...gl




fo)=fle) = ni=meA | Vazned = ) #fl) &
A =0, 1,2, 3}ﬁ,;.:,b£J1§‘
JU. B A BB=(1,2,3,4,5)

LY > 15
f={yly=x+1,Vxe A,ye B}.
={(0, 1,),(,2), (2, 3), (3, 9}

A=z B -L(U‘GJJWUJ-U s<f

(Injective function) (u-’arpul}(u—’ﬁ)d—’uu;_umuul (c)

e EN St IR - S JE I s 0SS S
(Surjective function)J—" Lﬁ;}gﬁ/guf (d)

{ ;;.L“Mgigﬁuff:,q—:»m}‘w.g
B LAl Late S rBer S
Range f=B Gﬁ_n
— MA=10,1,2,3) 10 L)

,, fiA—>B  iB={1,2,3).82
A=r Hes f=1{0.1),(1,2),(23),3,2)}

Range f=(1,2,3)=B Ul
et/ uw’(fg)Ju‘Fﬁuu e
(Bijective function) __-ﬂwus}u:LL}-jL_ﬂr;’JL (e)
/ C’r'c)uLf A - BJE L
T e F bl
HA={1,2,3 8 b L)
AU A5 BFEIB= (2,3, 4,5)
.2
f={xwly=x+1,Vxe A, ye B}
[=1(1,2),(2.3).3.4. 45} ¥




LLS”’JL;; " _;,g;_,r‘gfiuiumiu VLAI/LU: u:d‘w.r,.,fl&
-.;-_JEKJ_QLA&H/JQ,;KBJ{

ki

A eony Pt  ®

B o i

9T i

B=1{1,2,3456 « A={.23 S/ 7/
fiA>B={(xy)ly=2x,YxeA,ye B} LS NSG A
=1(1,2),(2,4),3,6)) J
-‘;;ufﬁufvgﬁaus-ws(uf‘@m@,

e S~ I (il ST 4> 5.3 (i)
(Examine whether a given relation is a function):

i‘at'y:s,)‘li:d:‘ul,gl;ﬂuﬁ@;JJlgf%{fxﬂﬂL ol'-‘.'nid/uj'ly..@

J/.;.fjl:’cjl.f-"uz_(diﬁ);}‘jL—Zﬂ"'cjzru;;sl._"...«'@t_-b’u‘nfu: 5.3 (iv)
(Differentiate between one-to-one correspondence and one-one function)
»sUs B ch‘fl:ﬁub’ﬂflsfl.?LA,ﬁ.f_.meJ:_us.;B:.f:_A :._{'fd'gl;-g
ﬁ'g!ﬁd:&.@&/u:;ubc)k‘.uﬁﬂ A u;:":}_ﬂwﬁ @J;}fﬁ,:b:r‘i A&fﬁ::’Jf
u:u;.“ulgu,mﬁb—:ﬂ A &f/ﬁ-%bﬁﬁ;&jﬁﬁfg/u L;f':/; K

n (A) = n (B) G G LT




(i) R
(i) R

(i) Ry
(i) R
(i) Ry
(iv) Ry
(v) Rs
(vi)  Rs

(vii) R,

(i) LxM

S i M AL x M35 M = (3,4}, L= {a, b, ¢}/
e E gt slu-LewndEnd Zyxviny=(-2,1,2)]

S L p st n M= (d, e, f, gl aIL = {a, b, ) /]
@ LxL

(iii) MxM

L i3 EMI ks Em]

{(x, ) y<x]

{C, )1 x+y=6}

(ii)
(iv)

R>

J;_MLL%-Z-J_},?JA?;M: [ylye PAy<10}<L={xlxe NAISS]ﬁ

N,

= {(x,y) 1 y=x}
Ry = {(x,y)|ly—x=2]}

..u.‘.au,é'uj! L’,E'.'JfJLJJ/):

{(1,1),(2.3),(3,4),(4,3),(5, H}
{(a. b), (b, a), (c,d), (d, e)}

{(1,2),(2,3),(1,3),3,4)

1

7yl EeEd d‘@';@Jgjsrd‘uﬁ'iu‘f'cd‘LaTu;_L-;stLaT:‘uj s Ji S 3 oiur
;:IJ:L&f@';;&fuﬁ:ﬁ[pﬁ;:ﬁ'ﬁj(vi);(i) _g{/rr)”&fgusf:.fofﬁéuf
{(1,1). 2. 2), (3,-3), (4, 4}}

{(1,2),(2,1),(3,4),3,3)}
{(b, a), (c, a), (d, a)}
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Zrasl  (b) Lrde (a)

e @ e ©

~e b alferdl

{a} (b) ¢ (a)
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_{_JmlﬁJu {Jlié_{-‘)sgi {123}

6 (b 4 (a)
9 () 8 (¢)
_cﬁ‘_b'ﬂ;:fgjf‘l U BixA = Bﬁ

B (b A (2
St @ o (©
..lLb‘yuI_{A N BIvA C Bﬁ
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B-A (d) ¢ (c)
...;;_t'ys,:u(A UBuC

AUBNC (b) AN(BUC) (a)
ANBAC () AUBUO (0
-.‘a.t'x,a;UA JU(BNO)

AnN{(BNC) (b) AuBNnAUC) (a)
AuBuO) () ANnBuAdAnC) (o
- brsliA U B?uﬁ:.{J)*-f’;"’BulAﬁ

B (b A (a)

BUA (d) ¢ (c)

e Qo IS ENEA X BIna By s 3 S UKI ALy )
4 (b 3 (a)

7 (d) 12 (c)
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(x)
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(xii)

(x1ii)

(xiv)

(xv)




..:ﬁ;dnynlﬁdl Wi JELA x BI st 2B i3 5 b AL I

26 (b) 2 (a)
2 (@ 2 (o)
< (Dom RI%R = {0, 2), (2, 3), (3,3), 3, H} .1
{0.2,3} (b) {0,3,4) (a)
(2.3,4] (d) (0,2,4) ()

-‘;_JﬁRange RInR = {(1,3), (2. 2), 3, 1), (4, 4)} 1

{3.2,4} (1,24} (a)
(1,34} (@ (1,2,3,4) (©
~e bt Gu-1, H 4P

(b I (a

vV (d) o (e
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St o) Fe B @
Fo P @ < F6e®) ©
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pE LS et e
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(Table of Logarithm) s> Kr;‘ or

(299
-

0/1|2(3(4|5|/6|7(8/9/123(456|789
0000|0043(0086/0128(0170 4 9 131721 26 |30 34 38
0212|0253(|0294{0334/0374) 4 8 12 (1620 24 |28 32 36
0414|0453|0492|0531/0569 4 8 121519 23 (27 3135
0607|0645/0682/0719/0755 4 7 111519 22 [26 30 33
0792|0828|0864|0899/0934 3 7 11/1418 21 |25 28 32
0969/1004{1038|1072/1106| 3 7 10 |[1417 20 (24 27 31
1139(1173(1206/1239|1271 3 7 10 [1316 20 |23 26 30
1303/1335/1367|1399/1430) 3 7 10 |1316 19 |22 25 29
1461|1492[1523|1553(1584 36 9(1215 19 |22 25 28
1614/1644{1673|1703/1732 3 6 9 (1215 17 |20 23 26
1761|1790(1818|1847|1875 3 6 9(1114 16 (20 23 26
1903|1931/1959{1987|2014) 3 6 8 [1114 17 |19 22 25
2041|2068|2095|2122(2148 35 8|1114 17 |19 22 24
2175/2201|2227|2253|2279 3 5 8 (1013 16 |18 21 23
2304|2330[2355(2380(2405 35 8[1013 15 |18 20 23
2430|2455|2480{2504/2529| 2 5 7 |1012 15 |17 20 22
2553|2577|2601(2625/2648 25 7(912 14|16 19 21
2672|2695(2718|2742/2765| 2 5 7|9 11 14 (16 18 21
2788|2810(2833|2856|28B78 2 4 7/9 11 13|16 18 20
2900/2923{2945/2967|2989) 2 4 6 (8 11 13 |15 17 19
3118|3139(3160(3181/3201| 2 4 6 |8 11 13 [15 1719
3324/3345|3365|3385/3404| 2 4 6 |8 10 12 (14 1618
3522|3541(3560(3579(3598| 2 4 6 |8 10 12 |14 1517
3711|3729(3747|3766(3785/ 2 4 6 |7 9 11 (13 1517
3892/3909(3927|3945(3962| 2 4 5|7 9 11 (12 1416

40654082 (4099(4116(4133| 2 3 5 |7 9 10 |[1214 15
4232/4249|4265|4281|4298/ 2 3 5|7 8 10 |11 1315
4393|4409|4425|4440/4456| 2 3 5|6 8 9 (1113 14

4548|4564 |4579|4594/4609| 2 3 5|6 8 9 (1112 14
4698\4713|4728|4742/4757| 1 3 4 |6 7 9 (1012 13

4843|4857 |4871/4886(4900( 1 3 4 (6 7 9 (10 11 13
4983|4997|5011/5024/5038| 1 3 4 |6 7 8 (10 11 12
5119|5132|5145(5159/5172| 1 3 4 |5 7 8 |9 1112
5250(5263|5276/5289/5302( 1 3 4 |5 6 8 (9 10 12
5378/5391|5403|5416/5428| 1 3 4 |5 6 8 (9 10 11
5502/5514|5527|5539/5551 1 2 4 |5 6 7 |9 10 11
5623|5635|5647|5658/5670( 1 2 4 |5 6 7 |8 10 11
5740(5752|5763|5775/5786| 1 2 3|5 6 7 |8 910
5855|5866|5877|5888/5899/ 1 2 3|5 6 7 (8 910
5966/5977|5988/5999/6010( 1 2 3 (4 57 (8 910
6075/6085(6096/6107/6117| 1 2 3 |4 56 (8 910
6180/6191|6201/6212/6222| 1 2 3 |4 56 (7 8 9
6284/6294(6304/6314/6325| 1 2 3|4 56 (7 8 9
6385/6395(6405/6415/6425( 1 2 3 |4 56 (7 8 9
6484/6493|6503/6513/6522| 1 2 3|4 56 (7 8 9
65806590(6599(6609/6618 1 2 3 |4 56 |7 8 9
6665|6675/6684|6693|6702(6712| 1 2 3 |4 56 (7 7 8
6767|6776|6785/6794/6803| 1 2 3 |4 55 (6 7 8
6857|6866(6875/6884/6893| 1 2 3|4 45 (6 7 8
6920/6928(6937 6946|6955 6964/6972/6981| 1 2 3|4 4 5 |6 7 8
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6990|6998(7007 (7016|7024, 7033|7042 7050( 7059|7067
7076|7084(7093(7101|7110| 7118|7126|7135( 7143|7152
7160|7168|7177|7185|7193| 7202|7210\ 7218| 7226|7235
7243|7251|7259|7267 | 7275|7284|7292|7300( 7308|7316
7324|7332|7340(7348|7356|7364|7372|7380|7388| 7396
T7404|7412(7419|7427|7435| 7443|7451\ 7459( 7466|7474,
7482|7490(7497 (7505|7513| 7520|7528/ 7536|7543| 7551
7566|7574|7582|7589|7597|7604|7612| 7619|7627
7634|7642|7649(7657 | 7664|7672\ 7679|7686|7694| 7701
T709|\7716(7723|7731|7738|7745|7752|7760( 7767|7774/
7782|7789|7796(7803|7810|7818|7825|7832|7839( 7846
7853|7860(7868|7875|7882| 7889|7896|7903(|7910(7917
7924|7931(7938|7945| 7952|7959 | 7966| 7973| 7980|7987
7993|8000(8007 8014 | 8021/ 8028|8035| 8041|8048 8055/
8062|8069(8075(8082|8089|8096/|8102|8109(8116(8122
65 |8129(8136|8142|8149|8156({8162|8169(8176|8182|8189
66 |8195(8202|8209|8215|8222|8228|8235|8241|8248|8254
67 |8261|8267|8274|8280|8287|8293|8299|8306|8312|8319
68 |8325|8331|8338|8344| 8351|8357|8363|8370|8376|8382
69 (8388|8395|8401|8407|8414(8420(8426|8432| 8439|8445
70 |8451|8457|8463|8470|8476|8482 8488|8494 |8500|8506
71 |18513|8519(8525|8531|8537|8543|8549(8555| 8561|8567
72 |8573|8579|8585|8591|8597|8603|8609|8615| 8621|8627
73 |8633|8639|8645|8651|8657|8663|8669|8675| 8681|8686
74 |8692|8698|8704|8710|8716(8722(8727|8733|8738|8745
75 |8751|8756|8762|8768|8774|8779|8785|8791(8797|8802
76 |8808|8814|8620|8825|8831/8837|8842|8848|8854| 8859
77 |8865|8871|8876|8882|8887|8893(8899/8904|8910/8915
78 |8921|8927|8932|8938|8943|8949(8954|8960|8965| 8971
79 |8976|8982|8987|8993|8998(9004(9009(9015| 9020|9025
80 (9031|9036/9042|9047|9053|9058|9063|9069|9074|9079
81 [9085(9090|9096|9101/|9106{9112| 9117 (9122|9128|9133
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85 (929492999304 |9309(9315|9320(9325|9330|9335|9340
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90 (9542|9547|9552|9557 |9562|9566| 9571|9576/ 9581|9586
91 (9590(9595|9600|9605|9609(|9614|9619(9624| 9628|9633
92 |9638|9643|9647|9652|9657| 9661|9666| 9671(9675| 9680
93 (9685|9689|9694|9699|9603|9708|9713|9717|9722|9727
94 (9731|9736|9741|9745|9750|9754|9759|9763| 9768|9773
95 (9777|9782|9786|9791|9795/9800|9805|9809|9814|9818
96 (9823|9827|9832|9836|9841/9845/9850|9854| 9859|9863
97 |9868|9872|9877|9881|9886|9890/9894|9899|9903|9908
98 (9912|9917|9921|9926|9930|9934 9939|9943 | 9948|9952
99 (9956|9961/9965|9969|9974|9978| 9983|9987 9991|9996

o~ S ALY
_3?9; r;

-\l

QbhbbbbbhbbbbbbbbhbbbbbbbbbbOOoOOOOOOOOOOOIOOOOIN OO~ o«

SEELEEEEETEEET:
2

A bR ARARRAAIUUUOOUOOONUONONOUOODODDDODODN~N~N~N ~N~N~N~N0®E ©

N N e Y S . T L g gerey LY Sy U L S N
Saddddddadd XS NNNNNNNNNNNNNNNNNNNNNNNNNNNNENNNNNNNRNOW

NNNNMNMNNNNNRNMNNNMNNNNOMNNNMNRODMNMOMNNNNNNODNNNWOOW GO0 WOWWNRW WD WwWww
NNMNMNNNNNNNNNNOWWORWWOAWLOWWRWOWWWWOWWWWWWWOWLWLRbhbbbhbbhbbbbbbh
WOWWRWWWRRWWWRWWWWWWWWLWWYWWRAhAhhhbhhbhbhbhbhbhhhbbhbhbhbhhOaoaon
DWWWWLWWWWWWWWARARLAAARRAARARARARRAARRARRARRAERRAOIOGOULOLOMOLWLILLLLO OO D

(=N =N == NN~ = — I — [ — S QU G (T WP N G G P i P QR WK WP P WP WK RPN NP G G G A ST WU Rl Wl W W WU SR W . W §




(Table of Antiogarithm)djgff S

1 3/4|5|6|7|8 456|789
1002 10071009(1012{1014{ 1016|1019 00 1|1 11|22 2
1026 1030 1033 1035 1038 1040 1042 00 1| 111|222
1050 1054 1057) 1059 1062| 1064| 1067 00 1|1 11|22 2
1074 1079 1081 1084 1086 1089 1091 00 1|1 11/222
1099 11041107 | 1109 1112|1114 1117 00 1|1 12|22 2
1125 1130 (1132 | 1135| 1138|1140 1143 01111 12|22 2
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1552 1567 1570( 1574 O (s 28238 3
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2698 27232729 2735 112 3 34,456
2761 2?8 27862793 2799 112|334, 45@6
2825 4 2851 2858) 2864 112] 3 34|,55€6
2891 2911 2917|2924(2931 112|334, 5586
2958 2979 2985( 2992 2999 112] 3 34,556
3027 B 3055 3062 3069 112| 3 44|56 6
3097 3112 3119 3126(3133|3141 112| 3 44|56 6
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.69 (4898|4909(4920|4932|4943|4955|4966|4977/4989/5000) 1 2 3 |5 6 9 10
.70 (5012|5023(|5035|5047|5058|5070|5082|5093/5105/5117| 1 2 4 |5 6 9 11
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